EduSahara™ Worksheet

5 -3

. Simplify the expression ( g ) x( 57 )
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. Simplify the expression 52 x57 x572

i) 511 iy 5710 iy 5712 (iv) 8711 (v) 2711

. 00=
(i) undefined (ii) -1 (iii)) 0 (iv) o (v) 1
7
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. Theexponentin the term is
(i) -7 (i) > (iii) 7 (iv) (i) (v) !
i) -7 (i 7 iii iv 1 % 4
(-5)'2x2'2
. Simplify -
(-4)2 x (-4)2

() 872 (i) 1072 (ii) 107 (iv) 1073 (v) 1372

. The value of22 +33
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52 x(-4)3 x22
8. Simplify

43 x(-5)3x22

G 5° iy 57 (i) 772 (v) 572 (v) 27

G G G
9. Simplify the expression(_z) X (-2) X (-2)
( 12407 ) ( 11383 ) ( 12409 ) ( 12621 ) ( 12407 )
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13.

14.

15.

16.

17.
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Find the exponential notation of
6X6X6X6X6X6X6

i 67 i) 37 i) 6° (iv) 6% (v) 9

Write the given number in usual form 3.30147><1012

(i) 330147000000 (ii) 33014700000 (iii) 3301470000000

0
(a(-6) + b('6)) —

(-6) (-6)

(i) 0 (i) (-2) (i) 1 (iv) 4 (v) a + b

10 XX /XX kX k=
3,2 2,2 3,2

() 12262 (i) 7262 Gi 10262 (v) 10262 (v) 10/%k

Write the given number in usual form-9.447518 x 10'4

(i) -0.09447518 (ii) -0.009447518 (iii) -0.0009447518

1l Xexe=

2 2

() 132 (i) 11e2 (i) 11e> (iv) 1le (v) 8e2

(-3/4)

Find the value of(-;i)

(i) 27 (ii) 2 (iii) 29 (iv) 25 (v) 27
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10
i) (7) (ii) ( ) (iii) ( ) (iv) (7)
273 =

2

(iv) 33014700000000 (v) 330147000000000

(iv) -0.00009447518 (v) -0.000009447518



22.

23.

24.

25.

Write the given number in usual form 4.49447><10'1

(i) 0.00449447

[52]°

i 719 iy 510 iy 511 () 310 () 59

If 27(

(i) 3

2v+1)

(i)

2

= 243(

(iii)

(ii) 0.449447

Y1 find v

0 (iv) 4 (v)

(iii)) 44.9447

1

Expand the following base power24

(i) 8

(ii)

1

(iii)

32 (iv) 256

(v)

16

(iv) 4.49447

(v) 0.0449447



Assignment Key

1) (i) 2) (v) 3) (i) 4) (i) 5) (v) 6) (ii)
7) (iv) 8) (iv) 9) (i) 10) (iv) 11) (iv) 12) (iv)
13) (i) 14) (iii) 15) (iii) 16) (iv) 17) (iii) 18) (ii)
19) (v) 20) (iii) 21) (iv) 22) (ii) 23) (ii) 24) (ii)
25) (v)
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